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6.3 & 6.4 Notes: Multiplying Proper Fractions =

Multiplying without a Diagram

Remember, a fractionis reallya __ 27Vi s on/ question, so % really means 37

2 .
This means that %x% really means g X 3 =7

Recall the shortcuts for multiplying and dividing by a whole number:
Multiplying —» JusT MuLTipLY THE wWHoOLE 1776 THE NMUMERATOR

Dividing —= JusT mMuLTirey THE WitoLe PMTe THE D EMOMINATOR

Multiply
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Look at the numerators and denominators for the fractions in the question and the
answer, What do you notice about them?

Eummary:
When multiplying two proper fractions:
D'Iulh‘ph, 'H!& numeratunss +v 1Cﬂ44( 'Hu., numem;i‘ur o'p 'HM— Pﬂduo{'

mul{';plc.f ‘H/\L AQWDWMM "" 'Q"‘V( 'Hﬂ.é cleaom(‘w»éu/ de +L\q_ lomd_qc{'_




Remember to reduce to lowest terms

23 £ 3,2, & 3,22, 12
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How hard do you think it might be to reduce the answer to -i—%x%?
Note: It is actually possible to cross reduce before you multiplyl
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When can yoy cross reduce?

When you are reducing the _ NVMERATCRZ  of one fraction and the _DEVoMINATOR
of another

\¥.s _|g 2. 4_K' 8
Eg: Xy T Bg: Sx5%7 = 44

Eg. In Jaycee's Pet store, three-eighths of the animals are fish, and two-fifteenths of

the fish are tropical fish, V!Mjmﬂi.o.n_g.f_tbs.épimnls. in the store are tropical fish?
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